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Directions: Use the standard algorithm fo solve each problem Then, drag each problem fo the correct product

DRAG EACH CARD BELOW TO THE
CORRECT BOX.





image3.png
ANSWER KEYS

irections: Read

Then, r

ch story problem Drog it fo the box with o matching product

d the numi

ber senfence

The rmovie fhasire's concasson sfond s

ks for mevie woldhers 1o rjy dhring

the vt A large b of popcrn b 120

eclories. A larga lemenods hos 388 calores
Howmas

12 orge lamanodes?

The latest

reving fr
onds

Favig

of 23 mnutes The kst

on menie hos @ reving fme
medy hos @
e of R mies. If hers ore 60
i one i, how kg s the
ere of e lfest oction movie

in soconds?

Nurrber Sentence:
12 x 388 = 4,656 calories

Nurrber Senfence:

123 x 60 = 7,380 seconds

Theloca move frasire netled ey recing

s e fhechre, o o5

hetre has 05
st A crly brd ikt cote $6 and s
regr-fckt coss I How uch money wl
oo thetre ok  they £ o th st

i thectreaf he regulr ekt prics?

French

ok 1 of Hhase s
how much meney dd fhey moke?

move fcke, o guernet burger, sda of

e el o ok for $27.1¢ ey

movismaol dacl,

Number Senfence

105 x Il = $155
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Describe what went wrong in the problem above.
After mulfiplying 80 x 7, the student incorrectly
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Robin multiplied two numbers together fo get a product that has a difference of about 90
from the product of 29 x 76. What two numbers might she have multiplied fogether?
Justify your answer on the lines below using the standard algorithm.

Answers will vary.
Sample response: Since 29 is about 30, Robin could have added or subtracted 3

groups of 29 fo make a difference of about 90. For example, she could have
multiplied 29 x 73 or 29 x 79.

Justification: 29 x 76 equals 2,204. 29 x 73 = 2,II7 which is a difference of 87.
87 is about 90. Also, 29 x 79 = 2,29 which is a difference of 87. Again, 87 is
about 90.





